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: 100kN/mM#%#E % % — -~ — —|3m%EFEBZ5 -~ — — —| 100kN/m#%#E % % — -~ — —|3mZ#Z B -~ — — —
Zzh st - - ~ - —| Th s -~ - - - zhs - -~ - —| zhus -~ - - -
’ 100kN/mM#%#EZ % — -~ — —|3m%EFHBZAD -~ - — —| 100kN/m#%#EZ % - -~ - —|3mz#EZB -~ — — —
Zhst — — ~ — — [ #hust — ~ — — — Fhst — — ~ — — | #h st — ~ — — —
3 100kN/m##8%2%| 1.00| 000 ~ 0.99 114.82 |3m%#Ai3 - ~ - - —|[ 100kN/m%E#B 25| 1.00 [11.03 ~ 14.60 114.82 |3m%#Ai3 — ~ — — —
Fhst 1.00| 099 ~ 877 100.00 | #hkist | 000 ~ 0.00| 1.66 8.87 Fhst 1.00| 500 ~ 11.03 100.00 | #h kst | 500 ~ 1460 | 1.66 8.87
4 100kN/mi%#8%25| 100| 000 ~ 1.07 116.06 |3m%#Z3 -~ - - —|[ 100kN/mM%E#%%| 100 |11.17 ~ 15.26 116.06 |3m%#Zi3 -~ - - -
Zhst 1.00| 1.07 ~ 885 100.00 | #h kst | 000 ~ 0.00| 1.65 8.80 Fhst 100 | 500 ~ 11.17 100.00 | #h kst | 500 ~ 1526 | 1.65 8.80
5 100kN/mi##8%%| 1.00| 000 ~ 0.68 110.18 |3m%#Ai 3 -~ - - —|[ 100kN/m%#B %% 1.00 [11.93 ~ 14.80 11018 |3m%E# A3 -~ — — —
Zh st 1.00 | 068 ~ 847 100.00 | #hList | 000 ~ 0.00 | 1.60 8.54 Thst 100 | 500 ~ 11.93 100.00 | #h kst | 500 ~ 1480 | 1.60 8.54
6 100kN/m##8%25| 100| 000 ~ 117 117.60 |3m%#x 3 -~ - - —|[ 100kN/m%E# 25| 1.00 [10.84 ~ 15.00 117.60 |3m%#2x3 — ~ — — —
Zhst 1.00| 117 ~ 895 100.00 | #hkist | 000 ~ 0.00| 1.68 8.99 Zhst 1.00 | 500 ~ 1084 100.00 | Zh L5t | 500 ~ 1500 | 1.68 8.99
. 100kN/mi%#8%2%| 1.00| 000 ~ 1.76 127.09 |3m%#A3 -~ - - —|[ 100kN/m%E#B %% 1.00 [10.95 ~ 18.70 127.09 |3m%E#A 5 -~ - - -
Zhst 1.00| 176 ~ 955 100.00 | Zh kst | 000 ~ 0.00 | 1.67 8.92 Fhst 1.00| 500 ~ 1095 100.00 | #h kst | 500 ~ 18.70 | 1.67 8.92
8 100kN/m##8%25| 100| 000 ~ 1.1 116.78 |3m%#x 3 - ~ - - —|[ 100kN/m%E#B %% 1.00 [10.77 ~ 14.60 116.78 |3m%#Ai 3 — ~ — — —
Fhst 1.00| 1.11 ~ 890 100.00 | #hkist | 000 ~ 0.00| 1.69 9.05 Fhst 1.00 | 500 ~ 10.77 100.00 | #h kst | 500 ~ 1460 | 1.69 9.05
9 100kN/M#ZEH#B % % - -~ - —|3mEHBZ D -~ - - —| 100kN/MZ#B %% — -~ - —|3m%EHEBZ3 -~ — — —
Zhst — — ~ — — [ #hist - ~ — — — Fhst — — ~ — — | 2h st — ~ — — —
100kN/mM#Z#BZ % ~ 3mEHZ 5 ~ 100kN/mM%#B %% ~ 3mEHBAD ~
Zzhst ~ Zzhs ~ zhst ~ zhst ~
100kN/mM#%#B % % ~ 3mZEHZ5 ~ 100kN/mM#%#E % % ~ ImEHZD ~
Thilst ~ Thist ~ Thils ~ Thist ~
100kN/mM#%#E % % ~ ImEHEZ5 ~ 100kN/m#%#E % % ~ ImEHBZ D ~
Zzh st ~ Zzhs ~ zhs ~ zhst ~
100kN/mM#%#EZ % ~ 3mEHEZD ~ 100kN/mM#%#EZ % ~ ImEHZ D ~
Zzhs ~ Zzhs ~ zhs ~ zhst ~
100kN/mM#%#B % % ~ 3mEHZ5 ~ 100kN/mM#%#E % % ~ ImEHZD ~
Thist ~ Thilst ~ Thilst ~ Thist ~
100kN/mM#%#E % % ~ 3mEHEZ5 ~ 100kN/mM#%#E % % ~ ImEHZ D ~
Zzh st ~ Zzh st ~ Zzh st ~ Zzh st ~
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